MODULE 2 TOPICS 2 & 3 (Equatlons Inequalities, Systems of Equations and Inequalltles)

Test Review Yop 044% (_){j(@(?\‘ %p &thcl (,(_,st Q”hb(\s

“_ Match each characteristic of a system (A — D) to the best solution method (1 — 4) for that system.
1. Algebraically — elimination method D ((A) when the rumbers are easy to graph

] Algebraica”y._ either method 6 IB ) when an exact solutiori is needed
4]

Faain
| € ) when one variable can be easily isolated

2
3. Algebraically — substitution method
4

=1

1. D 3 when the coefficients of like terms are multiples

. Graphically

1% Solve each system:
3x=2y=2  Sy+4y=-14 2x+y=20 {15x+12y=06 —6x+3y=6

5x=5y=10 3,46v=6 6x—S5y=12 —
y= y 0.8x — 0.2y 8x—4y=-12
(-2:-9) (-~ &) (7<) { 2,87 g
Consider | C=aT Solve fora. Solve for T Consider | V =27r3
B Y <4 3
. o=y  T= 3
Consider y =cxm Solve for x. Solve fo%m. Solve fsrn.
. Sy 3
X=% [ e X (\\\): qrg
. _ 29 1 5( .1 oL 9 3
Solve: 11(x~7)—2 = -46 ET\':-;(HE) x+ox=TbxeT =2
x=% x =\ xX=-3.5
X <5 < x £20 X 4380 X>-7
Solve and graph: (3‘2_28}51 12 < 3x <60 “4x+3>150r-30<14x -2
: 7 ——p— A Gty >

@Graph the compound inequalities: €@ UODVLQA 603\' SOIO’HD(\S

x<-3o0rx=90 x>3and x<-2 x>4andx< 10 Xx<2orxz-5
%nte in standard form: y = —x -9 y= —x + 6 Write 7x + 4y_?= 20 in general form
x-3y=21  3:45 Y= 4X*5

Name the y-intercept of 3x — 4y = 12(0 _5> 7 Name the x-intercept of -2x + Sy = 10( 5, —>
|

&9. Renee has two job offers to be a door-to-door  10. Alex needs to rent a bulldozer. Smith's

food processor salesperson. Pro Process Equipment Rentals rents bulldozers for a
Processors offers her a base salary of $15,000 delivery fee of $600 plus an additional $37.50
per year plus an additional $25 for each per day. Rabinson's Equipment Rentals rents
processor she sells. Puree Processors offers bulldozers for a delivery fee of $400 plus an
her a base salary of $18,000 per year plus an additional $62.50 per day. Determine the
additional $21 for each processor she sells. number of rental days for which both rental
Determine the number of food processors companies charge the same amount. Explain
Renee would have to sell for both companies which company Alex should choose based

to pay her the same arnount. Explain which on the number of days he expects to rent a
job offer Renee should accept based on bulldozer.

the number of food processors she expects LA/ S
to sell. See (O™ L@fl O SO J‘hD(\
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3x-2y =2 = 3x-2y =) 3CD =2y=2 e D=y
?(5"'5‘} 10) + I *Q\j =4 ‘(_:-2y= 2 g _F=-Yy
e 2y =% -4y =-y
(2 D)Y) <=1 =y —
P T,
Sx+Hy=-14 5 (2yr2) iy = -
3x thy=G —» %*+2,=2 = ¥=-Uyt2  -oyH0 +q., =-]
3 ' 3 P ~Gy @ =/
—— Cv?)k*(a(”():(a -—(w =-2Y
/ N DSl =G y =4
(=G, 4) / 3 =-18 :
N~ £ x=~lo Sl
“30+16 =-/y
-1{=-~]Y
L~
Ax+y =20 y=-2x120 A1 dty>2zo
(ox sl,f.|2 —  (x-5(-2x120) =12 [dty=20
) "\ (9x 'flOX "'!OO =12 \L G
. C _(:/451 B lox (002
T lex=l2 G6(1)-5(6)x 7
X = t (fZ2~30 =FZ |
:-{’2

l-/




0.5y cj.zg//ﬂ;)—-?

[.5x+ I;)y =0.6 1.5(2) r/.?_y:;é )
HBx LAy =2 3+l2y=¢
(.25%=13.G L2y =R.4"

w3 .3 y=-2.

Xz )
82)-.2(2)=2

o # Y=

Q=9

e

T Tre o (e )

= 2949x = 30 (xi)

AA+9 = “20x = |0

~2934¢ =10

3% = =33
e




12x + (1 y —-(97 2%+ 20 -24

‘(9>< = (03 'ﬂQx |

-1 :T“
=359
N ————

3(2-9¢) >51 12 < 30 -
G- 15x >9]| 3 3 = |
o -G He x4 ]
“15x > 45" _
-15 A5 -
— X£=3 — 20 24 :
— A= > -
— -3 0

=5 =4 3 o i ol
X290 >4 and XZIO
1) q I
X % -3 _ X *42 o x2-5
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=4+ %9 y= 52 X1th
+q Yox 3o
3(Y+Hq =Lx ) 5 (% Xty =0 )
927 =% C’?& tSy =30>
"5\'-' ‘3
l_ L] =X- gﬁ: Tkt ‘-\\; =75
Cx—20 =27}/ Iy —Ix
i ’—\\.:~7x+20
3x ~4y=12  -2x+5y=|0 K, TXTS)
3@ 4y =12 Ax +5(0) =[O R
'q\lez - Ay = |6
}::'3 X = -5

O (55
e S S
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L5000 425y = ’!8000 +Q \ X

- Ay -\ x
\5000 + HYx = [§000
Ux = 3000
=50
y= 15000 +25(l6s) },:I%DooJrQ\(toD)
5000 + 9506 |10 2[00
|"1500 d0100
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N = 315 Goo V= 62.95% + Hoo

37.5%4600 = 0 D.9x + 400

-37.5x 37,.5x

(600 = ADx

Y =x

1gobbon (> deaoer ~L—. sYar+ (lc:»—--er lN‘\"Q\ Ual%\

Sf‘f\lH\ (s CJ-&:Fm (N /ma roN (/O\L@-‘_ F@J'(KFC‘W&)

r—nex Sodd remd 4;@_%; hinson - ke




